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for the particular position shown, where BA is por-
pendicular to OAE-and link DC is perpendicular to
AC. The dump snd jta load together weigh 20,000

Ib with center of mass at G. All dimensions for the
I indicated geometry are given on the figure. T
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I escidal area showm, -
i Ane. X = 233 mm, ¥ = 333 mm
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' | om Byﬂwmdhodvfthunhde. determine the z- and

Pmb 5/19, repeated here.
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- ing in the square plate which will result in the mass
o center of the remaining plate being as close to the
upper sdge as possible. Ans. b = 0.586a
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